Q1) In fig. (i) if ABIICDAB || CD, find the value of x.
(i) In fig. if ABJICDAB || CD, find the value of x.

(i) in fig. if ABJICDAB || CD .and OA =3x-19, OB = x — 4, OC = x- 3 and OD =4, find x.

Sol:
(i) it is given that AB|ICDAB || CD
We have to find the value of x.

Diagonals of the parallelogram,

— DO _ CO
As we know, DOOA=COOB OA _ OB

ax-24=2xraxe1 B2 = 200

4(2x + 4) = (4x — 2)(x +1)

8x + 16 = X(4x — 2) + 1(4x — 2)

8X + 16 = 4x% — 2X + 4X — 2

4x2+8x+16+2—-2x=0

4x2+6x+8=0

4x2 - 6x—-18=0

4x2 - 12x +6x—18=0

4x(x—-3)+6(x—-3)=0

(4x +6) (x—3)=0
=—6/40rx=3

(i) it is given that ABICDAB || CD

We need to find the value of x.

— DO _ CO

NOW, DOOA COOBa OB
— 6x—5 _ 5x=3
Ex=52x+1=5x=33x-1 5" = 35

(6x — 5)(3x — 1) = (2x + 1)(5x — 3)



3x(6x — 5) — 1(6x — 5) = 2x(5x — 3) + 1(5x — 3)
18x2 —10x2 —21x + 5+ x+3 =0

8x2 - 16x—4x + 8 =10
8X(Xx—2)—4(x=2)=0

(8x—4)(x-2)=0

X=4/8=1/2 or x=-2

X=1/2

(iii) it is given that AB|[CDAB || CD
And OA=3x-190B=x-40C=x-3andOD =4
We need to find the value of x,

— AO _ BO
Now, Now, AOOC BOODE oD

3x-19 _ x4

x—3 4

3x—19x-3 = x—44
4(3x — 19) = (x — 3) (x — 4)
12x =76 = xX(x — 4) -3(x — 4)
12X — 76 = X2 — 4x — 3x +12
X2+ 7x =12+ 12x -76 = 0
X2+ 19x—88 =0
X2_19x + 88 =0

X2 _11x—-8x+88=0
X(x—11)—8(x—11)=0
X=11orx=8



